3)

BOX 2001 1
-4.3.1.10
-4.3.1.9 2001
a
COD T-P
15 0.18
] ] o
i i O
. %0.15 ] o
S . g ] o)
£10 4 - =
] =~ 2 5012}
5 £0.09 ¢
€ 2 ]
a ST £0.06 +
@) 1 = 1
o | & ]
] ocop £003 |
| = COD75% ] O T-P
0 ‘ ‘ 0.00 s
0 5 10 15
0.00 0.03 0.06 009 0.2 015 0.18
COD calculated  mg/L Phosphorus calculated mg/L
L’;‘g Chl.a
] 0.15
| o -
1.5 1 1
= ]
g ] 2
127 20.10 | o8
E | :
2 ol 9 ]
£00 : B
S 3
f=] e 4
£ 061 2 0.05 1
£ = 1
203 © ]
|
0.0 : : : : : ‘ ‘
00 03 06 09 12 15 18 0.00 = o ‘
' > v : : : ' 0.00 0.05 0.10 0.15
Nitrogen calculated mg/L Chla calculated mg/L
-4.3.1.9 (2001 )(COD 75% )

145



BOX1

CcoD| |==P-COD = D-COD e COD
O P-COD(Obs) O D-COD(Obs) O COD(Obs)
125

- 8 f (o] OO o (o)

2 @ !

a ]

8 4 ' % Q'POCS N
2 9 L o~ PQ /P odE O

1 S~~~ v Do
0 4 } T } T } T } T }

01/1 01/3 01/5 01/7 01/9 01/11
=O0rg-N =Inorg-N e T-N

O Org-N(Obs) O Inorg-N(Obs) O T-N(Obs)
2.5 +
2.0 ]

® 15

1.0 ]
0.5 1
0.0 -
01/1 01/3 01/5 01/7 01/9 01/11
|:| —Org_P —PO4_P —TP
O Org-P(Obs) O PO4-P(Obs) O TP(Obs)
0.30
0.25

-~ 020

on

g 0.15
0.10 &

0.05
0.00 ——
01/1 01/3 01/5 01/7 01/9  01/11

Chl.

= Chl.a O Chl.a(Obs)
0.25
0.20 -

5 0.15 ]

g ]

= 0.10

= ] Q)

Q L o n
0.05 s o BB qpdd
0.00 - f f f f f

01/1 01/3 01/5 01/7 01/9 01/11
-4.3.1.10(1)

146

BOX2

COD||===P-COD =—D-COD = COD

O P-COD(Obs) O D-COD(Obs) O COD(Obs)

mooooQ)O
D

COD mg/l
oo

IS RENECN
o
()
o

01/1 01/7 01/9 01/11
e Org-N o= [norg-N e T-N
O  Org-N(Obs) ¢ Inorg-N(Obs) O T-N(Obs)
2.5 1
1 o
E o
20 i O O o
15 4 .
& °
1.0 4 v
045 L ~
00 1 Co o 0 O
01/1 01/3 01/5 01/7 01/9  01/11
—Org_P —PO4_P —TP
O Org-P(Obs) O PO4-P(Obs) O TP(Obs)
0.30
0.25
_ 020
2 015
0.10 =
0.05
0.00 ac—av o~ WV a Tl
01/1 01/3 01/5 01/7 01/9  01/11
Chl.
=—Chl.a O Chl.a(Obs)

Chl.a mg/l

T S —E—
o1 013 015 07 019 ol/1l

(BOX1 BOX2 2001 )



BOX3

COD| ===P-COD ——D-COD = COD
O P-COD(Obs) O D-COD(Obs) O COD(Obs)
12
10 1
= 89
) 3 ®@ Q@ N
o6 \%M &DO f@Oo
AN W % g0 BT
O E
2 ] an o
01 : : : : :
01/l 013 01/5 0177 01/9 01/11
=0Org-N =Inorg-N e T-N
O Org-N(Obs) O Inorg-N(Obs) O T-N(Obs)
235 -
20 7
2 1.5E
1.0 3
0.5 3
0.0 A
01/1 013 01/5 o017 019 01/11
| |——oOrer ——PO4-P —TP
O Org-P(Obs) O PO4-P(Obs) O TP(Obs)

0.30
0.25

o1 013 015 07 019 oUll
Chl.
= Chl.a O Chl.a(Obs)
02
020 1
> 015
= ]
S 0.10 ] ~
= q —%\_
© 005 ] > o ®%
1 cpoo o
0.00 4 T } T } T } T } T }
o1 013  OU5S 017  0l9  Ol/I
- 4.3.1.10(2)

147

BOX4
COD| | =P-COD == D-COD e COD
O P-COD(Obs) O D-COD(Obs) O COD(Obs)
12 4
10
5 o
o fo) N
% 8 ¥ o
E ¢ 4 L
3 ]
O 4]
2 :M\.
i — s
01/1 01/3 01/5 01/7 01/9 01/11
==0Org-N =1Inorg-N —T-N
< Org-N(Obs) O Inorg-N(Obs) O T-N(Obs)
2.5
20 1
=) 1
g 1.5
1.0 ] )
g o o~
0.5 .
001—+ 0p o O—er™y o o
01/1 01/3 01/5 01/7 01/9 01/11
|:| —Org_P —PO4_P —TP

O Org-P(Obs) ©O PO4-P(Obs) O TP(Obs)

0.30 1
0.25 1
020 {
20.15
0.10
0.05
0.00

01/1

01/3

01/5 01/7 01/9  01/11

= Chl.a O Chl.a(Obs)

Chl.a mg/l
f=4
S

o

=

Iy
L

[e) ()
1 o o o ©O
0.00 A T } T } T } T } T }

01/1 01/3 01/5 01/7 01/9  01/11

(BOX3 BOX4 2001 )



BOX5

COD||=P-COD =D-COD = COD
O P-COD(Obs) O D-COD(Obs) ©O COD(Obs)
14 4
12 4
= 10 ; o S o .
‘é“ 8 4 o o O
a ] I
2 6 \—/vk__/_
O 41
2 E\‘—f’_——-\/‘\/’\-
I R — e
01/1 01/3 01/5 01/7 01/9  01/11
e Org-N o= [n0rg-N e T-N
O  Org-N(Obs) O Inorg-N(Obs) O T-N(Obs)
2.5 4
D o
%‘) 1.5 1

1.0 ;W.

0.0 T } —60—60—0 T —6 }
o1 03 05 07 019 0111
| [——o0rer ——PO4-P —TP
O Org-P(Obs) O PO4-P(Obs) O TP(Obs)
030 -
(o]

025 ]

0.00 =t S
011 013 015 O0L7 019 Ol/1
Chl.
= Chl.a O Chl.a(Obs)
025 -
020 1
ED 0.15 1
] o
= 010 7 5 o
© 005 ] o i
] o
0.00 4 T } } T } }
o1 013 015 01/7 019 0l/11
-4.3.1.10(3)

148

BOX6
COD| =——P-cOD —D-COD —COoD
O P-COD(Obs) O D-COD(Obs) © COD(Obs)
75
10 1
= 8 ]
on
E 6
g8
o 4]
2
0 } } T } } T }
01/1 013 015 07 019 0l
|:| == Org-N ==Inorg-N = T-N
O Org-N(Obs) O Inorg-N(Obs) O T-N(Obs)
25 -
20 ]
%‘J le; g -
1.0 o Q
0.5 1 I
00 ———+—0p o0 rSo—p—o
01/ 013 O0l5S 017 019 Ol/1I
| [[=—orgp ——PO4-P —TP
O OrgP(Obs) O PO4-P(Obs) O TP(Obs)
030 5
0.25 1 o

0.20

01/1 01/3 01/5 01/7 01/9 01/11
Chl.
= Chl.a O Chl.a(Obs)
0.25
0.20 A
= 0.15 1
= 1
S 0.10 7 VSN
= N o \.
O 1 o o
0.05 7 o
] o o
0.00 - T } T } T } T } T }
01/1 01/3 01/5 01/7 01/9 01/11

(BOX5 BOX6 2001 )




BOX7

COD

- 4.3.1.10 (4)

COD mg/l

Chl.a mg/l

——P-COD

O P-COD(Obs)

——D-COD
O D-COD(Obs)

——COoD
O COD(Obs)

01/1 01/3

01/5 01/7 01/9  01/11

= Org-N
O  Org-N(Obs)
25 7

—TN
O T-N(Obs)

o= Inorg-N
O Inorg-N(Obs)

20 7

0.0 : — o0 o 0§ —e ‘
01/1 013 015 01/7 019 01/11
—Org_P —PO4_P —TP

O  Org-P(Obs)

O PO4-P(Obs) O TP(Obs)

030 -
0.25 1
020 1

01/1 01/3

01/7 01/9

01/11

01/5

=—Chl.a

O Chla(Obs)

y_\

000 +—

01/1 01/3

01/5 01/7 01/9  01/11

(BOX7

149

2001

)





